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00 0: Male SD rats (O O:240-270g)5 O O Sham, TNBS,3dose[l] 0 0 n=8 0 0 n=40
00000000 00000000000ketamine/xylazineDODOOO0O0O00O00OOOO
000000000000 0000TNBS,50mg/kg,with 30% EtOH) D0OOO0O0000OO
0000 Alosetron05-HT30OOOOOOO 0.003,0.03,0.3 mg/kg 00000
O000D00000: 0000000 CRD(colorectal balloon-distension) 00 0000
ooobOOobDOoDOoDOoDOoD smmHgOOOOOOOOOOOOODOOOOOODOOO
(abdominal crampUa -position) 0000000000 mmHgOO 0000000000
goobooooogoosobooboobo 200000oooo
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Dose time 1 2 3 4 5 6 7 8
Sham 0 50 45 40 55 55 45 45 40
0.5 55 40 45 50 60 45 45 50

3 50 45 45 60 50 50 45 45

TNBS 0 30 25 25 20 20 30 30 25
05 30 20 25 20 25 30 25 20

3 30 25 20 25 20 30 30 25

3ug/kg 0 25 25 25 30 30 25 30 25
0.5 30 20 20 35 30 25 30 25

2 25 25 20 30 25 30 25 20

30ug/ke 0 30 25 25 20 30 20 20 30
0.5 40 45 30 40 35 25 40 45

2 35 35 30 35 30 20 30 45

300ug/kg 0 30 30 20 30 30 25 30 20
05 35 45 35 40 50 45 50 40

2 30 30 20 35 40 35 45 40
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time=0 time=0.5h time=2j

Group od SD od SD od SD
1: TNBS 25.63 4.17 24.38 4.17 25.63 4.17
2:_3ug/kg 26.88  2.59 26.88  5.30 25.00 3.78
3:30ug/kg 25.00 4.63 37.50 7.07 32.50 7.07
4:300ug/kg 26.88 4.58 42.50 5.98 34.38 7.76
5:Sham 46.88 5.94 48.75 6.41 48.75 5.18
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0000000000 00000D000 4= 10Alosetron OO 3ug/kg 0 030ug/kg O 0300ug/ke
dodoodoe(.=20304000000000:=500000001

yij =PBs+ej, i=1, j=12,..,8,

Vij = B3 + iy ey, 1=23,4, j=1,2,..8  (Q9)

Yij = Ba + €45, 1=5, j=1,2,...,8,

O000Oe; ~ N(0,0%),

030000000000000306,0606, 000000000
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00000 JMPOOOOOD organpain 05h.JMP 00000000 yOOOO yl" 000
0000 3ug/kg 0000000 —30000000000 300ug/kg0000000 +3000
0000000000000000 42 000 (@)00000000000

Iﬁ organ_pain_ 05h_T

o YU
<4071 Group k' |dozse|lozll_doge| No | time | ¥ | ¥1° vo
o 1[1:THRS 1/0.003 202 1 0.5 300 20,70 Z23.84
o 2 |1:THRS 1/0.003 -2.52| 2| 0.5| 20| 20.70| 23.84
o 2|1:THBS 1/0.003 -2.62| 3| 0.6| 25| 20.70| 23.84
o 411 :THBS 1/0.003 -2.hE| 4 0.5 200 20,70 Z23.84
o L|1:THBS 1/0.003 -2.62| Bl 0.5| 25| 20.70| 23.84
o £ [1:THBS 1/0.003 -2.b%| B 0.6 30 20,70 23.84
o T11:THES 1/0.003 -2.hE T 0.5 26 2070 23.84
o 2|1:THBS 1/0.003 -2.62| 8| 0.5| 20| 20.70| 23.84
x 912 3ueafk Z 3 0.48] 1 0.b 30 80.b%| 23.19
x 1012:_3ue/k 2 3 0.4 2| 0.5] 20| 30.b8| 28.19
o 32(4:300 2 g/k 2 300 2480 8 0.5 40] 49.06| 43.79
. 38 |5:Sham 320000 b.4s| 1 0.b| bb| b9.26| 48.%2%
. 34 |5 Sham 330000 b.48| Z 0.6 40| b9.26| 43.%7%
. 35 |5 :5ham 3130000 L.48) 3| 0.5 45| b9.28| 48.22
. 36 |5 Sham 220000 bhoas| 4 0.5 B0| b9.26| 43.22
. 37 |5 Sham 320000 b.4s| b 0.6 80| b9.26| 48.%2%2
. 385 Sham 330000 b.48| B 0.6 4b| b9.26| 43.%Z%
. 39|5:5ham 2130000 L.48) 7| 0.5 45| b9.265| 48.22
. A0 (52 Sham 220000 ho4s| & 0.5 BO| B9.26| 43.%22
Kl
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he - oIx)
Parameters b4 il Functionz (grouped) » [ ok ]
New Parameter... =) Eom o - =
el o,
EZE:%:EEEeZ %Uf%fggg%i?gggz gi?ziriz;efﬁi
e = Conparioon _ (k]
Conditional
Probaﬁility
Statistical hd
1=beta3_lowmer =)
[betai_upper—beta3_lower]
]'.'[atch[ff] i=> betad_lomer+
1+Exp| betal gamma *[LoglU[betaZ_DBU] —Logl[][ dossu]]
2~ betad upper Jl
2
D500000000
¥ Solution
ook DFE MSE EMSE
1256, 8501954 o6 34.912505 5. 9086805
Parameter Estimate ApproxotdErr  Lower CL Upper CL
betad lower 23,8358 2. 187T 19,7945 )
betad upper 48,2225 1.9563 43. 8652 he . BOT0
beta?z Db0 50,5035 19.0631 9.1333 118.1815
betal gamma 1.5163 0.5072 0. 7890

Solved By: Analytic NE

000000000 D50=30.5ug/kgd95% 0000 (19.1,1182) 000000000000
000000000 (23.8358+48.2225)/2 =36.0300000000000000000000
000000log,(36.0292) =1.48 0000
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000 20000000000000000000000000000 n;,000000 r;00
00000000000000000000 p;=r;/n; 000000 p; 0000 1000000
00000000000000000000000000000000000000200000
000y 00000000000000000000000n,00 000000000 p,00
00002000 r; ~B(p;,n;) 0000000000000000000000O0

0000000000000000000 200000000000000000000000
JMPOODOOO0O0O0OOOODOOO0O0OOOOOO0O00O0OO

JMPOOOOOO DI00O0O 0Ologit_yoshimira LDp
p;, 0000000000000 OO0O0O00
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m logit_ yoshimura_LDp

=logit_ yoshimura|? -
alpha 0.1, ilx|r|n D log x |p logit™| like |z alpha
=0verlay Plot 2 o 1 1/ 101 o 10| 0.00| 2.0043 0.0425 0.4338) -2.1972
o 2 21 136 20 100 0.200 2.1335| O0.1843| 5.0481| -2.1872
SColums (9/0) |° 3| 3183 5| 10| 0.50| 2.2625 0.4647| 6.9565| —2.1972
i | @ 4 4| 247 g 10| 0.80 2.3927 0.7957( 5.0046| -2.1972
Ay o ) bl 333 g0 10| 0.90] 2.5224| 0.9455H| 3.4143| -2.1872
; o ] g 450 10| 10| 1,00 2.85%32| 0.9874| 0.1268| -2.1972
-.r*LOg[ﬂ_fogjfﬂ]+[zr-r]$LOg[1-p_fogjr“]]
&p_lngit"
‘Parameters vi i Functions (grouped)™ [ oK
New Parameter. .. E] Eaow -
betal = 11.52292( Numeric
heta? = 2.084047¢ Transcendental
Trizonometric
Character
Comparison -
Conditional
Frobahility
Statiztieal |
Al
1
alphs
1 +Exp|- | betal *[ Jog x-beta2|+Log (- 2ipid)
ol
2 o
gooooo
DIooOU0O0 JMPOOUOOLOUOOUOOLOUOOOLOLOUOOOOO
'\'[ Solution ]
Loss DFE  Avg Loss ogrt Ave Loss
20. 984204562 4 b 2460512 2. 290426
Parameter Estimate ApproxotdErr Lower CL Upper CL
hetal 11.522919549 2.78041331 6.89364422 18, 0685481
heta? 2. 0840452792 0.05814372 1.92988933 2. 17706232

Solved By: Analytic NE
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log x
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